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October 13, 2022

Warm Up Grade 8

1) Find the missing value for the ordered pairs of y = 6x+ 5 

   ( show work)

a)  (­5, __) b) (___, 59)
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Input Output

Input Output

Pg 356
# 4(b,c), #5(a,c), #6, #7, #8(b), #11, #12(Like a test question)
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Input Output

Input Output

Pg 356
# 4(b,c), #5(a,c), #6, #7, 

y=2x+1

   = 2(1) + 1

   =  2   + 1

   =  3

y=2x+1

   = 2(2) + 1

   =   4  + 1

   =  5

y=2x+1

   = 2(3) + 1

   =   6  + 1

   =  7
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Input Output

Input Output
Input Output
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Input Output

Input Output

Input Output

Input Output
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Input Output
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Cost of catering a banquet supper for the local seniors is $8 
per plate and flat fee of $100.  Calculate the following when 
given the equation, 

              C = 8p + 100 

a) How much does it cost if 50 people decide to go? 
(SHOW YOUR WORK)

b) If the company gets paid $284, then how many people 
attended ? (SHOW YOUR WORK)
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 pg. 356 (Day 2) 

 # 5b, #8(a,,c), #9(a,b,c), , #10, 

Sheet Extra Practice 6 V2 

finish # 11, 12
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Extra Practice 6

		Lesson 6.6: Creating a Table of Values

1.	Copy and complete each table of values.

	a)	y = 3x+ 7	b) y = 2x - 2		c) y = –5x + 4

x

y
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2.	Copy and complete each table of values.

	a)	y = -x + 2		b) y = –4x - 5	c) y = 5x + 8

		x

		y



		–3

		



		–2

		



		–1

		



		0

		



		1

		



		2

		



		3

		









                     













3.	The equation of a linear relation is: y = -7x + 10x

y

–3



–2



–1



0



1



2
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x

y

–3



–2



–1



0



1



2
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Some ordered pairs in the relation are:

(–1, 17), (0, 10), (1,    ), (2, -4), (   , –11), (4,    )

Find the missing numbers in the ordered pairs.



4.	The cost of parking at the airport is $15 the first day, plus $6 for each additional day. An equation for this relation is
C = 15 + 6a, where a represents the number of additional days, and C represents the total cost of of the parking.
a) Use the equation to create a table of values.	

b) Hank parked for 14 additional days. How much did Hank spend on parking?

c)	 Sentor spent $207 on parking. How many rides additional days did he park?
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